Applying Matrix Equations Hints August 13, 2019

Applying Matrix Equations

4) A total of $10,000 was invested in two certificates of deposit that earned 6% per year and 8% per
year. If the investments earned $750 in interest each year, find the amount invested at each rate.
Write a matrix eguation for each s'ﬁem of equalmns and use your calculator tu solve using inverse
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77 An animal feed is made up of corn, soybeans and cottonseed. One unit of corn provides 0.25 units
of protein, 0.4 units of fat and 0.3 units of fiber. One unit of soybeans provides 0.4 units of
protein, 0.2 units of fat and 0.2 units of fiber. One unit of cottonseed provides 0.2 units of protein,
0.3 units of fat and 0.1 units of fiber. How many units of each ingredient must be combined to

make a feed that contains 22 units of protein, 28 units of fat and 18 units of fiber? : o‘: “ J
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10. An accountant for a company is creating part of the fiscal budget for next year. She has $500,000
to allocate between salaries, insurance, and general expenses. Based on previous X = ? Y- ) X-gb =0
financial statements, she expects to spend eight times as much on salaries x as on insurance . Also,

general apenses@istnricalwimmmwwﬁeulfmme combined

X‘N—_Sa\\c\r L,ue\?d — insvranie bude. %—gehem‘ cxPu)scs
a.

ritinga 5 m Write

system 6 eguations for the amount allocgted to each category.
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b. Writing a Matrix Equation Write the system of equations from part (a) as a matrix
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. Solving a System Use an inverse matrix tE‘:Bsnl'u'e the system of equations. How much is
gllocated to each category?
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